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Instructions :
1. af g st § |
All questions are compulsory.

2. ®h Y P F gAA & |
All questions carry equal marks.
TR0 A SRl @l i g@m 100 | (il o 8 3 6 SHe TR
¥ fuitg @@r § w9 gfd 5, oFr 0 g@q RO 49§
The question paper contains 100 jues sions. The Examinee should verify that
the requisite number of questions . ¥ pru.ced in the question paper, otherwise
he should ask for another 7 ucstio. vaper.
4. 93U b HEU IS W HE T o1 U8l R §E & T g | gdendl emew
gl © [ 396 Jarud § g d@. § U off §, o9l 98 qE@U WAN-9S HET

|

[#Y]

The cover page indirate * the 1umber of pages in the question paper. The
examinee should vr .ify tn. “ .ae requisite number of pages are attached in
the question pape. o*.erwise he should ask for another question paper.

ged STY AR 90T Rl # SEMYde 98 9T SUN 3T aggu Sfhd @i |

Read carefully- “~in« -uctions given on the answer sheet supplied and indicate
your answervs . “cordingly. -

6. T T e T, UiRT @ W FEiia sRfed BRE, o @ 9T T8

Kindly make the necessary entries on the answer sheet only at the places
indicated and nowhere else.

7. ghEE g9 1% a1 B 6 ofm 9w W i wm w8 R, ey a5
T qar SO gRhel 9 TE | i ' b
Examinees should do all rough work on the space meant for rough work

on the last page of the question paper and nowhere else and also not on
the answer sheet. |
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If there is any sort of mistake either of printing or of factual nature th
out of the Hindi and English versions of the question. th : e
will be treated as standard. 3 » the English version
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4 2 X goeEE & @ 9T A

(A) amfae i (B) a|mifaE TR
(cy (Ay I, (B) (D) grET® GHE G
A e

Comte proposed main part(s) of Sociology as :

(A) Social staties (B) Social dynamics
(C) (A) and (B) (D) Social forestry

5 wuEEEE @ aangd ®9 e g e 7
@A) i 49t (B) BlEe WHT
(C) & = (D) FHES FHM
Who gave Sociology a systematic form i
(A} Max Weber {(B) Herbert Spencer
(C) Karl Marx (D) Emile Durkheim
6 freh omuR T & ww e a@fm &7
(A) #q =97 (B) ST &
(C) U®.. 0% AE (D) = ST
According to whom i the basic unit of society individual ?

(A) Max Weber (B) August Comte

(C) L, F. Ward (D)  Charles Darwin

20 P9820 P.T.O.
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10, o o faer &
(A) it (B) 9t
(C) SmEsies (D) anEsIiiE
Sociology is a science ;
(A) Independent (B) Dependent
(C) Normative (D) Applied

11, wOEE % EENEE e F JE gaRe £

_(A) ZEH (B) ef=ErEH
(C) e (D) A

The main proponent of formalistic school of sociology is :
(A) Durkheim (B) Hobhouse
(C) Simmel (D) Sorokin
12, mEEE 5 OENEAE® GEEdE & YAdE E
(A) A : (B) dst
(C) = (D) R

The proponent of synthetic shcool of sociology 18 !

(A) Vierkandt (B) Weber

(C) Small (D) Ginsberg

1 _ P9820 P.T-O.






6w ﬂ*' P &0
' @) ﬂﬁrﬂfﬁ T (B) &
; © ﬁ'ﬁrﬁr 3% (D) &
© Characteristic e eiyin

B (A) Dynamism . (B) Ce-operation
. (O Culture (D) All of these
16 fre oo R &R 7

~ “rgT Um e §9E E fAed e dm & wW &1 " o e B
@ aE (B) fd

;:j-j‘-if.;/e:r HaEat D) T A AR
B who has given the following definition ?

“Community is a social group with some degree of ‘we-feeling’ and living

‘ in a given area.”. |
A ~ (A) Bogardus i (B) Kingsley Davis
I,: (C) Maclver (D) None of these
f-"l“T G B
-, _':.j' ,’%’M am A (B) & mET

.mzf‘ﬂrrw {Dﬁﬁﬁﬂi‘r

{m Brahmu b (B) Arya Samaj
) Prarthana Sama (D) All of these

- P9820 P.T.O.
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1 5y il oo 1
TR L R
© ot @ D
iy

-- " ..-. [} I.'I. " 3 L]
. iﬂﬁnﬂm&m Parsons, elements of ‘action’ are :
R " | 1
N

(&) An actor (B) An end

{Ei A set of conditions (D) All of these

 Hgm gt @w & T SR 1 qiteTEr H AUR B

'c'm . @) awt G
ch} GIEIEE EEEIT (D) A m'a.:r

Max Weber defined sociology on the basis of :

(A) Social Institutions (B) Social Action

(C) Social Solidarity (D) Social Organisation
sght & frm ofd & & 7

(A) g Bt (B) €W staew

'ﬁr st REE

g _.-|

".'f:.-. @ is associated with the species known as :

m Homo sapiens (B) Homo erectus
MWM (D) None of these

- P8820 P.T.O.
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(D) =T

" Which of the following is nof an ascribed status ?
.Iu i

~ (A) Student (B) Woman
~ (C) Shudra (D) Brahmin

s
a4 *

(B) =@t % & /e &
D) gt & TUTH AT
ing is a social value ?
(B) Treatment by the doctor
(D) Reverence to elders
L
“P9820 P.T.O.
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(B)

_ (D)

(B}

(D)

B The wﬂﬁluﬂfﬂ: ﬂf':suc;iet}r are -

) w @ o (D)
% _ ceondary group is characterised by :
r,;mw g e (B)

(©) Wefeeing D)

(A) Institutions (B)

(C) Group (D)

Structural

E’fﬂlﬁﬂnnary

4 o

Organisation

All of these

O TR

¥ 7 oA e

Direct relations
None of these

P.lT-iD L]
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(B) drrs fie
D) . & 3

(B) Yogendra Singh

(D) S. C. Dubey

. (B) 19D
D) A @
(B) Universal

(D) All of these

s @ A WA R A S @ s

q1gfaE ) (Bi FipRes
(A) @ (B) &l (D) T ¥ & &

(B) Secondary

(A) and (B) both (D) None of these

b i e
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5. -'f-.""i'muh-ﬂnd; ia called :
:-",'_._r : "' ¥

i3 T’:ﬂ& Competition (B) Cooperation
R ) Conflict (D) None of these

W ak wE @ fa % o o @ w8 @ wt @ Ee

,*{ﬂ weE Hedrm _{B) owwm aedn
U e
() wfyE "Edm (D) EdmE Hem

1If people work individually for the attainment of a common end, then it
L'
L will be called :

:_. IF'

(A) Direct cooperation (B) . Indirect cooperation

(C) Primary cooperation (D) Secondary cooperation
ard feRw A wed & ww @A g

A 3%
: '~‘* © qaEEaT (@ 2
m Simmel has given the following type(s) of conflict

L
Py
ik b

(B) wwad) M3

w War ' (B) Factional contlict

'l

- ) m N, (D) All of these

e -
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(A) SIS | (B) A
(©) = e '(D)ﬁﬁ@reﬁiﬁaﬁ

Assimilation is a process, which is :
(A) Conscious - (B) Unconscious

(C) Fast - (D) None of these

50. “W,aﬁ:awaﬁmawaﬂ%q@g%l“ag'qﬁwﬁmﬁﬁ%?

(A) T4. TH. SHEd (B) zfege du I
©) ama?? g e ' (D) fooiFrE §H

A

“Orgénisation refers to an aspect of interaction systems.” Who has given
this definition ?
(A) H. M. Johnson (B) Elliot and Merrill
(C) Ogburn and Nimkoff (D) Leonard Broom
51, mwmﬁmﬁr Wﬁmﬁf@d’r% ?
&) wHTE FHOH (B) u. s=q. N
() 4. @ fra= (D) . TH. IsTeq

#.\:.J | \/

Who has written the book ‘What is Sociology’ ?

(A) Alex Inkeles (B) A. W. Green

~ (C) D. C. Gibbons . (D) J. H. Abraham

P9820 P.T.O.



=

iables wer

- - T E
e - e 4 =
- - - M - .
[} i =
= = iy i g
- J.-- I.r-
i 2l s -
3 P 3 - -
: — --.r
-
o 8



\ | 21
55, ‘el oih = @ ey s fees g fEmoTEr f
. ' ‘)A-) Tireftl ‘ (B) 3rHSHT
(C) drEHd BHEN (D) =9
Who used thé term ‘Scheduled Caste’ for the first time ?
(A) Gandhiji (B) Ambedkar
(C) Simon Commission (D) Manu
56.  HREH % PR oA B oA Al offy &1 e fear mr w7
) 1330 ® 332
(C) 334 | ik (D) A @&
Which Articles ”of the Constitution provide reservation to Scheduled Castes ?
(A) 330 - : (B) 332

(C) 334 ' (D) All of these

57 dfee % S o % GgAT SR SRS @ e & g & e

e
(A) 23 ,. Bl e
(©) 15 ,. | D 17

‘As per which article of the Indian Constitution Scheduled Caste/Scheduled

tribe have been given protection against exploitation ?
(A) 23 AR (B) 19
o) 1p (D) 17

P9820 ' P.L.O.
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I !
A ‘ 23
”.' Wﬂf T @ omren fow & 8 7
'_xwmm (B) frmEa
tﬁ}ﬂ@!@% | (D) e
| _"thﬂ‘mﬂm concept of ‘Primary Gr-:}up: 7
-E iﬂ-"" Kingsley Davis (B) Maclver
:’ (C) C.H Cooley (D) Ogburn
| (A) wem ;" B) i e
.';'? (© (A) 7w (B) 3 D) A
B i - o
(A) Institution (B) Religious sacrament
(C) (A) and (B) both | (D) None of these
FeTaE & AET
(A) famre @1 amEm gfa@m & _(B) sfEr @ snan fyae @
{G! faate @1 oETC w8 (D) #epft &1 o fyaw &

" According to Westermarck :
(A) Marriage is rooted in family (B) Family is rooted in marriage

{C] Marriage is rooted in culture (D) Culture is rooted in marriage

PO820 P.T.O.
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g7 B B Y P Rae & oser @ ¥ 7

68.

(A) Tgoet foame _(B) §ge foam

(€) U faame (D) TH & @iy el
Which among the following is not a type of marriage ?
(A) Polygyny (B). Group marriage
(©) Monogamy (D) None of —these

qfiER @lje Tathe A 56

(A) A Srazadaet @ g

®) @l @ o SRS A AR &
(C) wifife &/l

(D) (B) @ (C) &l

Primary function(s) of the family is/are :
(A) Satisfying sexual need

(B) Satisfying economic need of its members

. (C) Religious function

(D) (B) and (C) both

P9820

P.T:.0.
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72. Rrgereree af@r &dr &

\

73.

20

(A) dgEEE, (B)
(C) wgEa ' D)

Patriarchal family is :

(A) Matrilocal (B)

. (C) Matrilineal (D)

UhHl AR & Al §
(A) 9RERIS

(B) gl Ih

(C) SIfiIXh

(D) (A) @@ (B) aml
Nuclear family can be :
(A) Family of orientation
(B) Family of procreation
(C) Caste-oriented

(D) (A) and (B) both

P9820

Matriarchal

Patrilineal

P.T.O.
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el M -
m' : qgt 3@6111'& %\ i
:

/ﬂ) g/ A

3 mfaﬁmm@r | (D) E/StT/adT

!aages of evolution of society are : .
: ,XA) SavggéfBarbarisﬁ:/Civilized LH(B) B-'Iarbarism/Savage/Civilized
‘tC) | Civili‘zed/Ba;baris:;:]Sayage - (D) Civilized/Savage/Barbarism
R S % A fra % g ¥
@ T - (B) o
(©) (A) @ B) @ | (D) HFfA
i '?foponents of cyclical thébry of social change are :
: " 1Ay Spengler (B) .'il‘oynbee
| © W and (B) both_ (D) Morgan
ha.s written the book entitled ‘A Study of History ?
(B) Toynbee
(D) Steward
P.T.0.
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_ fatementiol S ol i
-(A)- klistotle Lo : (B)
('c')' Rousseau i ©)
(A) aslﬁﬁ.aﬁ'r T

| j) A A Elﬁ"ﬁ T

(C) Wﬁrwwﬁmﬂ

@ ¥ @

- P9820
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“wﬁﬁﬁmwﬁwmaﬁﬁ'

mﬁﬁmﬁmmmm‘mm%.

(© (A @ (B) 2R

D) A @

The ‘Normative Social Order’ insists on :
(A) How the individual should behavg
(B) How an individual actually behaves
| (G) (A) and fB) both

(D) None of both

agma‘rm;ﬁﬁamﬁwaﬁgwmqéw%%%&qé’f%mm%,m

(A) F (B) ®%a

- (©) TfE TR (D) ¥ §f

Black (B) White

(D) All of these

P9820 BIBO,
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S i o

(D) A) Fw ©)
Major cause of polygyny is :
(A) More women, less men
(B) More men, less women

Economic advantage

(A) and (C) both

Po820

(B) e

(D) H & @ @

(B) Acquired

(D) None of these

Lo b
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3] ﬂl'?
TR Twh few o A g b 7
- i B)

- © wm ) oeh

r" y L
r

B L e (B) Latin
- (C) Portuguese (D) English
raw ot % ofom @ R

(A) ©ATEE

(B) =WToE

(©) (A) a (B)
% (D) a99F Hiak J FOE EH
L
Conflict has results, which are :

{A) Positive

(B) Negative

~ (C) (A) and (B} both

Iﬁ R,
(D) More positive, less negative

A

,jpaam'l

. From which language the term ‘caste’ has been originated ?

PT.0.
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